H £ 0l & AF & S

20243 =0llah LB Ol KT A

A XA

Al A

M YHZE Al g Dlgtxy
Rl XFHUEX de elZet A5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol LA K1 &4 1k 5,325,071 7,744,255 A2,419,184
= 1,350,380
Jl 979,146
Al 1,279,502
- 1,716,043
SHE =AY JlgtEd 2,564,645 4,450,656 1,886,011
= 1,299,530
Al 711,097
- 554,018
NS0 Mt elxet 25 643,014 1,436,172 AT793,158
= 400,000
Al 200,000
- 43,014
INE:LV = DNRESES R 28,318 32,172 A3,8%4
201 er2 3| 18,232 22,952 N4 T20
01 AtR2te|HI 15,232 19,952 N4 T20
Odgt==d| 4,800
—HUXIZHERESSHEA
3,000, 0003 =22 x80%<E 2> 4,800
O=2g+¢ 5,440
—UR AR S (ZDU2ELE)
150,000 8 *32] +80%<E &> 2,880
— N2 (ZREEE)
200,000 «8H *23| x80U<E &> 2,560
O=etl 4,92
— XS 2L E R E2S A
8,000 132 +60 L «80%<E 2> 4,992
02 S3=gHl 3,000 3,000 0
OZZ2aZHAl 3,000
- XL RE2ARRE S
3,000,000 3,000
202 04| 8,736 8,320 416
01 =LHA LI 8,736 8,320 416
OV[[&PAPSELPNIEEES
20,0002 * 132 »42&d +80%<E 2> 8,736
203 =8| 1,350 900 450
03 A=A PR FZ| 1,350 900 450
(OINE-1V[EPNESESP) =
1,500, 0002 x00%<E 24> 1,350
SAIAZZCIX G AN =2 3,69%6 4,000 A304
201 er23 | 3,69%6 4,000 A304
01 At2teltl 3,6% 4,000 N304
Odit=3=H| 3,696




A XA
M Uz TAl g J|gt2y

CHol: MICIOILIKI M8 Q1T D= (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— 2L L Z I Of & A Q1
33,0002 7040 24> 1,848
—SAIIAUZIXIZAA QI
33,0002 * 702 +80%<E 2> 1,848
JIZEs FHAAS - KNG XFAE 600,000 1,200,000 600,000
= 400,000
Al 200,000
401 AlEHIZL R0 600,000 1,200,000 A600,000
= 400,000
Al 200,000
01 Al&HI 600,000 1,200,000 £A\600,000
OELLIEFIE O EETE S
600,000,000& 600,000
= 400,000
Al 200,000
HEXLHUXIME 2 11,000 200,000 189,000
201 2= 11,000 200,000 189,000
01 At22t2l] 8,000 0 8,000
Oget=ZH| 8,000
— UM LN EEEES
5,000,000 x80%<& 2> 4,000
—NSHHANHE LU SLEE=SES
5,000,000 «80%<& &> 4,000
02 s3=ghl 3,000 200,000 A197,000
OAlZ EHIs Xl 3,000
—HUHXIZSHSRAEIE 3,000,000& 3,000
AU K 2S 1,921,631 3,014,484 1,092,853
= 899,530
Al 511,097
- 511,004
ATHAHOU X ESEXI2AIE (=) 1,921,631 2,974,484 /1,052,853
= 899,530
Al 511,097
- 511,004
402 2I2FX=201H 1,921,631 2,974,484 1,052,853
= 899,530
Al 511,097
- 511,004
03 2IZ+2AEAIHHI 1,921,631 2,974,484 1,052,853
OL NS KNI ESSE X E A
1,921,631,000& 1,921,631
= 899,530
Al 511,097
- 511,004




A XA

M YSOIT AHES 9 UEE
L JHOIPHLED QALY EA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S s et s 43,080 135,768 A\92,688
WEHDNESR AAHAMNE =N 3,080 5,268 N2,188
HEATINE S AHAIE = 3,080 5,268 N2,188
201 fer= 3| 3,080 3,348 N268
01 At 2t 2,080 2,848 AT68
O=g=g 2,080
— sl ERARNBA
100,000 » 13 22| «80%<E &> 2,080
2 5234l 1,000 500 500
OZZ22ZHAl 1,000
—UHEAIHESI2EE 2o Al
1,000,000& 1,000
D= Jlgk Qe 24 40,000 130,500 290,500
sAa 29 40,000 45,000 /5,000
201 2= 40,000 45,000 /5,000
03 A2 I 40,000 45,000 /5,000
OEASEHISHER A
50,000, 0002 * 141 x80%<E 2> 40,000
HIUX +==20otd 40,491 36,801 3,690
= 1,350
Al 18,746
- 20,3%
OIAAl erd2te| 40,491 36,801 3,690
= 1,350
Al 18,746
- 20,3%
LPGEI| AFEDLT AIEIRA (=) 3,300 3,900 2600
= 1,350
Al 675
- 1,275
403 XM SAH=01H 3,300 3,900 2600
= 1,350
Al 675
- 1,275
02 SIS0 =2 A S A 3,300 3,900 2600
OLPGEIIMNEITFAIE A
2,700,000 2,700
= 1,350
Al 675
- 675
OLPGEIIAIS IR AIEHE AL TR E X2
50,000& 129t 600
Xeord 2tel AR (AlHl) 18,071 12,501 5,570
Al 18,071




A XA

H2: K S0
EH2lr OIHAl erd 2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 18,071 0 18,071
Al 18,071
01 TR =S FSHI 18,071 0 18,071
OARISXIAIZ0UH XIS S ALY 18,071
— AL 1,752,500 4CH 7,010
Al 7,010
-1V 1,000,000 +6LH 6,000
Al 6,000
—d&1 1,687,000 *3CH 5,061
Al 5,061
AHAUEX 25 2 X ZH Q! 5,120 6,400 21,280
201 er23| 5,120 6,400 1,280
01 AtR2t2|HI 5,120 6,400 1,280
OM AN ESsE2 LA H el
6,400, 0002 x80%<E 2> 5,120
SOl O EREE 21 2E 10,000 10,000 0
201 2= 10,000 10,000
01 At22telt] 10,000 10,000
OggrEa] 10,000
— ROl EHE =Y 10,000,000& 10,000
DHIZIPGAHEE B AIAE 2E 4,000 4,000
201 er23| 4,000 4,000
01 AtR2te|HI 4,000 4,000
OZels9l 4,000
—DHLPGIM H S A AR 2SH
4,000,000 4,000
ANEH el d=SHH 2= 36,280 169,632 133,352
Al 8,520
- 27,760
AgEHel 54 X2 36,280 169,632 A133,352
Al 8,520
- 27,760
SZEANNE2E 13,280 0 13,280
201 2= 13,280 0 13,280
01 At22telt] 3,680 0 3,680
Oggt=3=H| 3,280
—2942872S
200, 0002 ~8E x80%<E 2> 1,280
— ML EREMES
2,500, 0002 x80%<& 24> 2,000
ogxz 400
—gd=JIe = 50,0002 +8Z 400
2 s5=34l 9,600 0 9,600




2A:

Ol X &S 0t

g3 X992l d=aMH 7=
el XgEHANe 54 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ2Z22ZZHAl 9,600
—&JIea 1,000,000 82 8,000
—&ot=ER=3 200,000 82 1,600
SHclus 43 5,960 12,863 26,903
201 2= 5,960 8,904 A2,944
01 At22t2lt] 5,960 8,904 A2,944
Oget=ZHI 1,600
— KNSRI LEFHEESHES
2,000,000 x80%<& 2> 1,600
Oo=2g=¢g 4,360
—XFoHel20lH B2 A+=E
370,000 x1H*43] 1,480
— KSR A S
100,000 1228 x32/ xB0%<E 2> 2,880
ZCERMEASH(AIY) 17,040 40,000 N22,960
Al 8,520
- 8,520
307 @I2t01 & 17,040 20,000 2,960
Al 8,520
- 8,520
02 LB AANHEE 17,040 20,000 22,960
ORIHAANGE R 17,040
—QSEREECANESSEUH
17,040,000 17,040
Al 8,520
- 8,520
=g - B4 ZYHYG 2,479,344 2,770,869 A291,525
= 49,500
Jl 979,146
Al 541,139
- 909,559
sEatd e 427,200 396,411 30,789
Jl 8,428
Al 99,606
- 319,166
SHMAD|BIAIE 2= (AlH]) 195,600 169,600 26,000
Al 97,800
- 97,800
307 elztol & 600 600 0
Al 300
- 300
02 2IZHBYAIHE £ 600 600 0
O==clH= X2l 600,000 600
Al 300




A ORI A
B =0l -S4 AWAYs)
el sEEE e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 300
401 AIEHIZ SR THYI 195,000 169,000 26,000
Al 97,500
- 97,500
01 Al&HI 193,636 167,800 25,836
O |BAE2E 193,636,000 193,636
Al 9,818
T 9,818
03 A2 2 0HYI 1,364 1,200 164
OsYMAD|BIAIE St S 1,364,0002 1,364
Al 682
- 682
SEAULMIIBIAIZ ZHIAIS 185,000 185,000 0
401 AIEHIZ R OHYI 185,000 185,000
01 Al&HI 185,000 185,000
OsHAULI|BAIZ EHIALY
185,000,000 185,000
SSUAD|BAIE 22 10,560 10,560
201 Ler23| 10,560 10,560
01 At2teltl 10,560 10,560
ouzta 10,560
— S MAD BN SRR YRR
10,560,000 10,560
sX0IS2el XA (28]) 12,040 12,051 A1
Jl 8,428
Al 1,806
- 1,806
101 21AH| 11,040 12,051 A1,011
Jl 7,728
Al 1,656
- 1,656
04 JIZtNZ22 NS+ 11,040 12,051 A1,01
OsX0oISAEHEAF A ABI (5L S EE)
11,040,000& 11,040
Il 7,728
Al 1,656
- 1,656
201 ger=3| 1,000 0 1,000
Il 700
Al 150
- 150
01 AtR2telHl 1,000 0 1,000
OsAlolsdclzg=5+
1,000,000& 1,000
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A ORI A
B =0l -S4 AWAYs)
&t sEEE e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl 700
Al 150
- 150
skAd= 2& 24,000 19,200 4,800
201 =3 24,000 19,200 4,800
01 At22t2ltl 24,000 19,200 4,800
Oggt=3H| 4,800
—sSANAdA2GAALRES
3,000, 0002 x80%<& 2> 2,400
e - CIEIe<F-BI PN}
3,000, 0002 x80%<& 24> 2,400
O=g+y
100, 0003 * 10H x24 2] x80%<E 2> 19,200
SHaSXE 1,360,016 1,709,346 A349,330
= 22,751
Jl 754,690
Al 257,543
- 325,032
s3dgeFd 12,352 25,984 13,632
201 fer= 3| 8,992 22,144 13,152
01 Al 22IH| 8,992 20,944 A11,952
OogsragH| 7,072
—2RWASYLED
3,840,000 «80%<& &> 3,072
~SHALELSHNE
5,000, 0002 x80%<& 2> 4,000
OEEL 1,920
—SHALENS2ZAY)
8,000 x5 +60 L xB0U<E &> 1,920
202 04l 3,360 3,840 A480
01 =LHA LI 3,360 3,840 A480
OsAdSHsA2|HR A0
20,0003 x5 +425| x80%<E 2> 3,360
dssLd=g 1,280 21,846 N20,566
201 fer= 3| 1,280 3,420 A2,140
01 At 2|l 1,280 1,920 2640
Oget=EH| 1,280
—JSSYRIHHLEES
1,600,000 «80%<& &> 1,280
sSEMNEFA0IS 2EIIY X2 (2H]) 1,333 1,333 0
= 833
Al 250
- 250
307 elztol & 1,333 1,333 0




2A:

n
B =0 -S4 AWAYs)
chelr SItasSXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 833
Al 250
- 250
02 QI AHANEER 1,333 1,333 0
Os=sEMgF20S2EI X2
1,333,000& 1,333
= 833
Al 250
- 250
SENEF A0S MRE X2 (AlH]) 17,310 19,097 A1,787
Al 8,655
- 8,655
307 glztol & 17,310 19,097 A1,787
Al 8,655
- 8,655
02 2B HAIAE & 17,310 19,097 N1,787
OsEMEFLISMREXH
17,310,000& 17,310
Al 8,655
- 8,655
sENEF20S 2 s XA (=34) 800 800 0
= 250
Al 275
- 275
307 @I2t01 & 800 800 0
= 250
Al 275
- 275
02 2IZHBYAIHE & 800 800 0
OsEdgs2iiscHusid
800,000 800
= 250
Al 275
- 275
SHsEMSSSAIA (AL 29,233 30,000 NT67
Al 17,540
- 11,693
307 @I2t01 & 29,233 30,000 ANT67
Al 17,540
- 11,693
02 B AAHE L 29,233 30,000 NT67
OsgsENgssid 29,233,000& 29,233
Al 17,540
T 11,693




2A:

n
33 =g - 5o JUHYS
chelr SItasSXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEMEF202 243 X (AH) 19,600 49,840 130,240
Al 9,800
- 9,800
307 el2to| & 19,600 49,840 /30,240
Al 9,800
- 9,800
02 QIZtEHAEE X 19,600 49,840 A30,240
OsENgs20IS2-3 N
19,600,000& 19,600
Al 9,800
- 9,800
S M AL XIZ 4,250 3,000 1,250
307 lztol & 4,250 3,000 1,250
02 2B YA HE L 4,250 3,000 1,250
SENZANAEE I UHE XS 2 AFAEIXI2
3,500,000 3,500
Os=gZZUUETAXSIAILBIXZ
750,000& 750
sAMHEE S XA (AlHI) 38,000 49,946 11,946
Al 19,000
- 19,000
301 EtE NS 38,000 49,946 A11,946
Al 19,000
- 19,000
14 J|EIE2 &S 38,000 49,946 11,946
2SS = XS 38,000,000& 38,000
Al 19,000
- 19,000
HESXHH SR (AH]) 40,000 40,000 0
Al 20,000
- 20,000
301 2eEN= 40,000 0 40,000
Al 20,000
T 20,000
14 JIEt2d=3 40,000 0 40,000
OHEsHHSE XA 40,000,000 40,000
Al 20,000
- 20,000
ELMER X2 (=) 15,751 17,330 1,579
= 11,851
Al 1,950
- 1,950
301 EtE N = 15,751 0 15,751




2A:

n
B =0 -S4 AWAYs)
chelr SItasSXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 11,851
Al 1,950
- 1,950
14 0Bt 2as 15,751 0 15,751
OELMHEMAA 15,751,000& 16,751
= 11,851
Al 1,950
- 1,950
FIIEHIZ X2 (2 /HEA) 98,071 98,071 0
Al 34,678
- 63,393
301 22N = 98,071 0 98,071
Al 34,678
T 63,393
14 JIEt2d=3 98,071 0 98,071
ORJIEHIZX# 98,071,000 98,071
Al 34,678
- 63,393
2usY XA (ML) 57,892 100,576 AN42,684
Al 28,946
- 28,946
402 2I2F X201 & 57,892 100,576 N42,684
Al 28,946
- 28,946
02 QI T2 AL EE (01X THE) 57,892 100,576 NA2 684
OstENSMEISEXIXH
52,080,000 52,080
Al 26,040
- 26,040
OAlZotRA-ZHYUAXE
1,890,000& 1,890
Al 945
- 945
Ozt R L2 3,922,000 3,922
Al 1,961
T 1,961
HWDE ossits HESRA(ALI) 16,800 16,800 0
Al 8,400
- 8,400
307 @120l & 16,800 16,800 0
Al 8,400
- 8,400
02 LB AANHEE 16,800 16,800 0




2A:

n
B =0 -S4 AWAYs)
chelr SItasSXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUnYoSsUEESSAA
16,800,000& 16,800
Al 8,400
- 8,400
25018 sIIAXIK (AL 21,000 37,100 /16,100
Al 10,500
- 10,500
402 2I2E X201 & 21,000 37,100 A16,100
Al 10,500
- 10,500
02 QI X2 AL EE(OIHTHE) 21,000 37,100 A 16,100
O=s0IE8sIIAXNE 21,000,000 21,000
Al 10,500
- 10,500
sIIAH el X 10,000 10,000
301 EtE NS 10,000 10,000
4Bt 2a3 10,000 10,000
OsI1HI==clHlXI& 10,000,000 10,000
FE2As S=sFENA(=H) 8,800 8,230 570
= 6,160
Al 1,320
- 1,320
301 EtE2 NS 8,800 0 8,800
= 6,160
Al 1,320
- 1,320
4Bt 2 a3 8,800 0 8,800
OFHZ=A=sgs8=NE
8,800,000 8,800
= 6,160
Al 1,320
- 1,320
H&=gel X (Albl) 88,200 70,200 18,000
Al 58,800
- 29,400
301 LEtE NS 88,200 0 88,200
Al 58,800
- 29,400
14 JIEt2 = 88,200 0 88,200
Ol d=sHHFHIL K AIE
88,200,000 88,200
Al 58,800
- 29,400
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fir
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652
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fir
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2,000
1,000
1,000
2,000
1,000
1,000
2,000
2,000
1,000
1,000

47,500
32,600

Al

Al

Al

Al

14,900
24,600

Al

17,220
7,380
24,600

24,600

Al

17,220
7,380
12,000
8,400
3,600
12,000
12,000

Al

12,000
8,400
3,600

Al

- ESS

- SRA(E) - HIRAY

S LRE-L

(=81)

&

AHIX]

o
0
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b
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o
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A ORI A
M =Y - FN Z3AHL!
=@$el: sIAsSXA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 6,400 6,000 400
Al 4,480
- 1,920
01 T2t 6,400 6,000 400
OUsSEZET Y (SHIS)
6,400,000& 6,400
Al 4,480
- 1,920
402 212+ X201 & 4,500 4,500 0
Al 2,500
- 2,000
02 QIZHHZ AL E X (01X THE) 4,500 4,500 0
OZAIsEHE0IMEsE X
4,500,000& 4,500
Al 2,500
- 2,000
CAlsg sS4 2,500 4,000 1,500
201 fer=3| 2,500 4,000 21,500
01 AtR2t2|H] 2,000 4,000 22,000
Ogxt= 2,000
—EXNLEHISS = 2,000,000 2,000
2 55234l 500 0 500
SRR 500
~AXSHA TSR ZH Sl
500,000 500
S HHRIRS(AIHI) 4,000 4,000 0
Al 2,000
- 2,000
302 OIF=H Mol 2&t= 4,000 4,000 0
Al 2,000
T 2,000
02 2N S e S22 4,000 4,000 0
O XIR S (AIH])
4,000,000& 4,000
Al 2,000
- 2,000
S8 Mol SHIX 6,000 6,000 0
302 OI==H a2 &= 6,000 6,000
02 2t s HESEa=3 6,000 6,000
O=SMaHOI=L o 24 =(FHI)
6,000,000 6,000
SAXZ2S HIBHINA(OI2) 1,690 2,737 1,047
Jl 1,690
201 =3 1,690 2,737 1,047




=
=1=]
EPIEN

SA: 0EX

o™

T EH

of
i’
oF
uJ

=aak

-

KIO

Hlw

A1,047

151,000
A151,000
A151,000

2,000
2,000
2,000

A1,338

A1,338

N1,338

1,502
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8,000
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31,242

20,960
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1,690
1,690
1,690
1,200
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490

490
751,000
751,000
751,000
751,000
751,000
751,000
751,000

Il
Il
J|

2,000
2,000
2,000
2,000
2,000
2,000
2,000
6,662
3,331

Il
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1,666
1,665

6,662
3,331

Al

fir

1,666
1,665
6,662
6,662
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Al

i

1,666
1,665
29,740
29,740
20,740

Al

29,740
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- ESS
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01 AFS2t2ltl
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I
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s
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2A:

B =0 -S4 QMY
=@$el: sIAsSXA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oger+gH| 1,600
—HEUEEBEHE
2,000, 0002 x80%<& 2> 1,600
03 &A= 24,000 0 24,000
OZBEYFOISAL
30,000,000 »80%<E 2> 24,000
=St ASSH £ NE 437,820 390, 162 47,658
= 5,576
Il 211,546
Al 108, 165
- 112,533
TEHEZ AR (AlH]) 55,442 58,204 N2,762
Al 27,721
- 27,721
206 M=l 5,400 5,600 A200
Al 2,700
- 2,700
01 MHZHI 5,400 5,600 A200
Olld=zalds 5,000& %1,000kg 5,000
Al 2,500
- 2,500
ONEdsHA= 5,000& 80 400
Al 200
- 200
301 EetE2 NS 200 200 0
Al 100
- 100
14 JIEt2 8= 200 200 0
Ogtes=EN 5,002 405 200
Al 100
T 100
307 elztol & 49,842 52,404 N2,562
Al 24,921
- 24,921
02 2B YAIHE A 49,842 52,404 A2,562
OMgdsd=2g N
200, 0002 * 1202 *50f% 12,000
Al 6,000
- 6,000
OLESsIHet=2X 8,000 3,850kg*70% 21,560
Al 10,780
- 10,780
OJI=E=XelESYXE
100, 0002 *55E= *7(f% 3,850




2A:

X XH -
o=

ol SasIE & 2 X2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,925
T 1,925
OLSsIHAIZXA 22,2002 *B00ZE*7(f% 12,432
Al 6,216
- 6,216
sneFSAl XA (=) 326,834 296,000 30,834
Jl 196,100
Al 65,367
- 65,367
301 EtE NS 326,834 296,000 30,834
) 196,100
Al 65,367
- 65,367
14 IIEt2 83 326,834 296,000 30,834
OstuLKRIA 326,834,000 326,834
Il 196,100
Al 65,367
- 65,367
TAZ A BEEHE (2H]) 6.630 0 6.630
Il 2,210
Al 2,210
- 2,210
307 lztol & 6,630 0 6,630
Il 2,210
Al 2,210
- 2,210
02 LB HANHEE 6,630 0 6.630
OAFL el RIMIZ=HI X2 6.,630,000& 6,630
7l 2,210
Al 2,210
- 2,210
e 72 4,368 8,752 A4,384
201 2= 2,352 4,272 1,920
01 AF2221H| 2,350 4,272 A1,920
SHEER=1] 1,200
—SNMBIIBEIILASI0E
3002 *500F* 105 +80%<E 2> 1,200
o=l 1,152
—SUYERFISE2SAHI
8,000 2«3 +60 2 xB0U<E &> 1,182
202 04l 2,016 4,480 A2,464
01 2LHoIH 2,016 4,480 N2,464
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2A:

M =g - 4 3G,
&l =4ksdt ASEU 2 XN (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OREENSHSHAAINELAAREZIO]
] 20,0002 *3E #4222 +80%<E 2> 2,016
SLAIE S THSHAR (Al]) 3,850 3,774 76
Al 1,925
- 1,925
307 gIzHol 3,430 3,774 A344
Al 1,715
- 1,715
02 QB AAIEER 3,430 3,774 AN344
OlggseXA 3,430,000& 3,430
Al 1,715
- 1,715
402 IZERH=0IN 420 0 420
Al 210
- 210
02 QIZFXHE AL B X (01 & THE) 420 0 420
Oltssx=AlIEXI~ 420,000& 420
Al 210
- 210
SMNHSEM XIA(=HI) 9,552 7,740 1,812
= 4,776
Al 2,388
- 2,388
301 LB F 9,552 7,740 1,812
= 4,776
Al 2,388
- 2,388
14 J|EI2 43 9,552 7,740 1,812
O AR PSS AIHI XA 6,852,000& 6,852
= 3,426
Al 1,713
- 1,713
OGPSEEHI= 60,0002 *45CH 2,700
= 1,350
Al 675
- 675
=UME RS22(=HI) 1,000 1,000 0
= 500
Al 250
- 250
201 L2 | 1,000 1,000 0
= 500
Al 250
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A ORI A
B =0 - &4 AWAUS)
&2l JIEZEie & s=2Es (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 720 866 A146
= 498
Al 11
- 11
01 MHZH| 720 866 A146
OF M A2 684,000 684
= 480
Al 102
- 102
OFMEAE AR SHA 36,0002 36
= 18
Al 9
- 9
301 22N = 1,940 3,751 1,811
= 970
Al 485
- 485
14 0Bt 2a3 1,940 3,751 A1,811
OATHAHLESAI=HI 840,000 840
= 420
Al 210
- 210
OSATHSULESAI=HI 1,100
—AlsHILEE| 1,100,000 1,100
= 550
Al 275
- 275
SSYME 2E(=H]) 8,964 8,600 364
7l 4,482
Al 2,241
- 2,241
301 Eet2 NS 8,964 8,600 364
Il 4,482
Al 2,241
- 2,241
14 DBt 2 a3 8,964 8,600 364
OssgNHE3HIAE 8,964,000& 8,964
Jl 4,482
Al 2,241
- 2,241
AXE2asSXE (=) 2,250 2,500 A250
= 1,800
Al 225




A XA
A

B =0 - &4 AWAUS)
=t JIEEENY & SEES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 225
301 EtE NS 2,250 2,500 A250
= 1,800
Al 225
- 225
14 DBt 2 a=S 2,250 2,500 A250
SHEEASTH 2,250,000&x15 2,250
= 1,800
Al 225
T 225
IETSY oA (AILI) 21,950 21,950 0
Al 10,975
- 10,975
206 MH=H| 6,100 6,100 0
Al 3,050
- 3,050
01 M= HI 6,100 6,100 0
OFAAESAE 6,000& *100=+ 102 6,000
Al 3,000
- 3,000
OL2 I ZENLES
1,000& *100% 100
Al 50
- 50
301 Eet2 NS 15,850 15,850 0
Al 7,925
- 7,925
14 JIEt2 8= 15,850 15,850 0
OFAZ NS ESAI=H
10,0002 *7005*50% 3,500
Al 1,750
- 1,780
O3l (1) 800,000~ 1&+12& 9,600
Al 4,800
- 4,800
OuHEIN=EL2(AHHY ) X elHI XA
2,750,000& 2,750
Al 1,375
T 1,375
IR 4,512 4,512 0
201 er2 3| 560 560
01 AtR2telHl 60 60
OSSR EFPSSLRS
4,95091 %128 60
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A ORI A
Hu: ol B4 AWAAF
&2l JIEZEie & s=2Es (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 =523l 500 500 0
OZSFLAE2 Y] 500,000 500
206 M=l 3,952 3,952
01 M=4l 3,952 3,952
OFAESENEFL 2,752
—&ZA 6,000& 60 *42| «80%<E &> 1,182
—&EH 10,0003 x20S *42| «80%<E &> 640
—goigz
5,000& +60S *42|«80%<E 2> 960
O = N
300, 0002 x5S +80%<E 2> 1,200
KIIssEs2el(=2H) 5,600 5,600 0
= 1,680
- 3,920
301 LELEN S 5,600 5,600 0
= 1,680
- 3,920
14 IIEt2 83 5,600 5,600 0
Rllss2sael(ZeYS)
35,0008 x1605 5,600
= 1,680
- 3,920
SIls2Es2el(AlHl) 29,000 69,856 A\40,856
Al 14,500
- 14,500
301 LELEE S 29,000 356,000 26,000
Al 14,500
T 14,500
14 IIEt2 83 29,000 36,000 26,000
oudes=ssAE 30,0002 3005 9,000
Al 4,500
- 4,500
OAtl H oAt S S L SHI X2 At
250, 0002 * 1002 *8f% 20,000
Al 10,000
- 10,000
RllsSEs2el 27,372 26,565 807
201 er23 | 3,600 3,600 0
01 At2teltl 3,600 3,600 0
Odgt+=ZH| 3,600
—S=SSM=+8tl
3002 15,000 +80%<E &> 3,600
301 EtE NS 23,772 22,965 807
14 0Bt 2a s 23,772 22,965 807
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2A:

B =0 - &4 AWAUS)
&2l JIEZEie & s=2Es (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORJIsE2s2el(ZEH|S)
1,997,000 = 1270  «80%< & 2> 19,172
OgIlSS0RIEZY|
40,0002 x50 +80%<E 2> 1,600
OsliisESEs el 3,000,000 3,000
ZDA0DHM=ZE A (=HI) 80,000 52,000 28,000
= 16,000
Al 24,000
- 40,000
301 22N = 80,000 52,000 28,000
= 16,000
Al 24,000
- 40,000
4Bt 2as 80,000 52,000 28,000
OZAS0NM = E AL
200,000 »400< 80,000
= 16,000
Al 24,000
- 40,000
202 S22l KR (AlH]) 6,000 0 6,000
Al 3,000
- 3,000
206 M=Hl 6,000 0 6,000
Al 3,000
T 3,000
01 MHZH| 6,000 0 6,000
OZn0IS=ASANE 6,000,000& 6,000
Al 3,000
- 3,000
=LA (=) 750 1,500 AT50
= 225
Al 263
- 262
301 EtE N = 750 1,500 AT50
= 225
Al 263
T 262
14 JIEt2 8= 750 1,500 AT50
OJIet2 a3 750
—S24ctEATNE] 15,0003 505 750
= 225
Al 263
T 262
BliS=2 =062 (AH]) 63,000 63,000 0




2A:

M = EA QMU
&2l JIEZEie & s=2Es (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,900
- 44,100
101 1248 57,000 48,400 8,600
Al 17,100
= 39,900
M ISR 57,000 48,400 8,600
OB S2S0IH2YRABHEHRSR
&) 57,000,000& 57,000
Al 17,100
3 39,900
201 LBt 4,000 10,600 26,600
Al 1,200
- 2,800
01 Atz 1,000 4,600 3,600
OYerag| 1,000,000 1,000
Al 300
= 700
03 A2 2| 3,000 4,000 1,000
O#=sio 2ot A T2 )
3,000,000 3,000
Al 900
= 2,100
206 Xi2H| 2,000 4,000 22,000
Al 600
- 1,400
01 2t 2,000 4,000 22,000
OB S2=0IE 22
2,000,000 2,000
Al 600
= 1,400
IIEHHEE AR 2,250 2,250 0
Al 1,125
- 1,125
301 YBHE M2 2,250 2,250 0
Al 1,125
3 1,125
14 DBt AR 2,250 2,250 0
OIETHH 2 E LXK (AlH])
2,250,000 2,250
Al 1,125
= 1,125
A 2HZH (U XIAS D) 161,231 180,529 ~19,298
ol ey 138,576 155,457 16,881
ol 2| 138,576 155,457 16,881
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2A:

Ol X &S 0t

A #ZYRAZHI(0IHXIAS D)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 138,576 185,457 16,881
01 &4 69,827 9,083 £20,206
OARRIIRR4Y
11,3192 ¥ 182 +30A| 2H+ 123 » 1. 02+80%<E 2>
69,827
02 JIEtME = 68,749 65,424 3,325
OBEYA=IA 10,848
—gS N2 700,000+ 12+ 122 8,400
—9iEag 50,00021% 124+ 122 600
— AR DAY
9,6203 x1&*20A| 2H+ 12 x80%<E 2> 1,848
OXHANUH XA 2SH 21 (AIZHI R
t2) 57,901
—g=s 3,354,660« 18 12& 40,256
—X<IHEHI 40,256,000 x1&*2. 5% 1,007
— 501 41,263,0002 %12 150%+8% 4,95
NFI=EE R
11,3190+ 12 #35AI 2H 122 %1 2AB<T 24>
3,880
—IIE=E 100,000& x 1 =123 1,200
— gl 140,000 x 18 * 122 1,680
e EEES 180, 00021 #124%35/40x 128 1,89
—Saxeay
3,438,580 + 12 #35/40+84%+5k* 122 1,517
—Helgss 50,0003 *35/40% 12 525
—ItE 4 3,438,580 *B4%+86%+4 0% 9%
=3l 22,655 25,072 N2,417
Jl=23H] 22,655 25,072 N2,417
201 Ler=23 | 15,576 18,192 AN2,616
01 AtR2te|Hl 15,576 18,192 N2,616
Odgt+==H| 7,890
—SA2E+SHI
10,520, 0003 #75%<& &> 7,890
O=gl 3,226
—FA2EYRFIASAI
8,0003 +21 & 24 2 «80%< & 2> 3,226
Ogxz 4,460
—&dUEAD LR =
105,000 =2CH* 122 2,520
—g=J|Iext= 47, 003 =20« 123 1,150
—3J1838JI8R=
32,900 20+ 122 790
202 04| 2,879 2,588 291
01 2K 2,879 2,588 291
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LA IR A
A #ZYRAZHI(0IHXIAS D)

SoT oo

&l D122 (CH9: &S1)
= = olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
O XIS F=RI04H|
97,4002 x4 X x3 x2 3| xB%< A 24> 1,871
ORNSYEYRE=RNH|
20,0002 #2132 x3 x80%< A 2> 1,008
203 L2 =&Y| 4. 200 4 292 paNe
M4 EANSHAL=KRH] 4. 200 4 292 AP
OENSYY2=XH| 350,000 128 4,200
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